
Activity  Quiz

1. Which of the following is the least effective way of dealing with verbal bullying?
 silence
 seeking support
 avoidance
 assertive responses

2. Bullying is a problem that affects…
 bullies
 school communities
 victims
 all of the above

3. Which statement is not true?
 bullies tend to pick on bigger, stronger kids to build their reputation
 bullies tend to pick on kids that they consider to be vulnerable
 bullies tend to hide their behaviours from teachers
 bullies tend to pick on kids who are socially isolated

4. Which of the following is an example of bullying known as social alienation?
 a bully excluding himself from social groups in the school
 a bully threatening to hurt the victim
 a bully purposely excluding a person from their friendship group
 a bully getting the victim alone so they can bully them without detection

5. Friendships and relationships you make during school years…
 will probably not last into adulthood
 may change and develop over time
	 will	not	involve	arguments	or	conflict	if	they	are	truly	good	relationships
 depend largely on social media 



6. Which of the following is an example of passive-aggressive communication?
 sarcasm
 enunciation 
 criticism 
 manipulation

7. If	a	person	exhibits	good	listening	skills	and	direct	eye	contact	during	a	conflict,	their	
behaviour is an example of…

 passive communication
 aggressive communication
 assertive behaviour
 all of the above

8. Which of the following could be viewed as an example of cyber bullying?
 using a friend’s password without their permission
 posting information online which teases a friend just for a joke
 forwarding a nasty email about a friend to others in the friendship group 
 all of the above

9. What is netiquette?
 a set of acceptable online behaviours
 your digital history
 your online behaviour
 a set of rules regarding bullying

10. In relation to child abuse, which of the following is considered to be neglect?
 constant criticism of a child by one or both parents
 a parent losing their temper and hitting a child
	 failing	to	provide	sufficient	food	for	a	child
 shaking a baby because it would not stop crying
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